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1. Read the passage below and answer the questions which follow :

NAYA BASAT (Midnapore), Nov. 13 : A red alert has recently been sounded in the entire
region against the attacks of a lone tusker which has a nasty wound on its neck. The wound was
perhaps caused by spears or poisonous arrows that the villagers now use to drive away the herd |
of elephants, which have recently migrated to this region.

This three human casualties so far and the wound on the lone tuskcr show the growing
enmity between man and the elephants in the Midnapore-Bankura belt.

The traditional steps taken by the Forest Department so far did not have much effect. The
elephant herds have become almost used to the sight of human beings. The only step that seems
to work like magic in driving them away is fire.

The Forest Department, too, has accepted this fact, and regularly supplies burnt mobil,
juteballs and crackers to the villagers for putting up resistance, Some desperate villagers go a
step further. They wrap spears with diesel-soaked jute, set them on fire, and hil the elephants
with them on the neck or the back. This method is a violation of the wildlife protection rules. It
turns more elephants into rogue-elephants.

. Respect for the elephants, however, is still evident among sections of villagers. Most of Ihc
victims of the clephant were those who foolishly tried to show respect to the ‘Ganesh Devia’

from close range.
(a) What proves that there is a growing enmity between man and elephants? 2
Ans.
e ——— T
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(b) What does the forest department do to help the villagers driving away the I ﬂ;
elephants?
Ans.
() Who were mostly attacked by clephants? 2
Ans.

(d) Give an example of the violation of wildlife protection Rules from the above passage, 2
Ans.

" T}“Kd hik =|;| his coll 1x12=12
1) Koushik said to his colleagues, “Have you noticed that there are two holidays in thi
week?” (Change into indirect speech) o holidays in this

Ans.

A(ii} There was nobody standing in the bus stop accept me. (Turn it into an affirmative sentence)
ns.
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(iii) He opened the door and found the old man lying on the floor. (Splif the sentence info

three simple sentences)
Ans,

(iv) English is spoken all over the World. (Change the voice)
Ans.

(cry) since she has lost her only son in the earthquake.

(v) The lady
(Write the proper form of the verb given in the bracket)

(vi) As Mr. Bose is on honest man, everyone respects him. (Tumn ir into a simple sentence)
Ans.

(vii) M. S. Dhoni is one of the coolest captaincy in World cricket. (Turn the sentence into
positive degree)
Ans. '

(viii) T said ten thousand flowers tossing their heads. (Turn it into a complex sentence)
Ans.

(ix) Everyone praises the beauty of the garden. e Adiensin
word. ot The garden. (Use the Adjective form of the underlined
Ans.

p (x) She took only three months to C?TI'IP]CII: the project. (Turn it into a negative sentence)
ns.
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(xi) Three is no man in this village who can catch the thief. (Re-write the sentence using
infinitive)
Ans,

(xii) This boy not only plays badminton well but also sings Rabindra Sangeel well, (Tum it

into a simple sentence)
Ans.

3. Write a letter to the Head Master/Head Mistress of your school requesting him/her to
build & cycle shed in your school compound. Mention the problems you fase at present. 7
Ans.
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Physical Scicnce

I. ?hm ﬁ'.fmqm-l= 1x5=5
(i) 1o 3o cafiy—

(a) Rrgmres [] vy faees [] (¢) canbre [] () ez il

(i) Fefawm szpie (NbN)-aa wfé sfiard qoo sieab Gxe—

(@) 16K [] ® 7K [] () 42K [ @) @bz 7]
(i) UL — Ul gerta Rsfe {5 () e sieat zo1—
@ 2 [] ® 4 [ © 3 (] @ 8 O
(iv) o= c=fbx famrd el a3
(@) Cs [] ®) Li [] &) Na [] @ K []
(V) LPG fferera ysfapg o 20—
(2) CH,CH,ONa [] (b) CH,COONa ]
(c) Cr(S0,), D (d) C,HSH D
2. ¥%/fau foged =t o 1x2=2
(1) DC cerbs Lrramma Fdadt =m (i) NaCl 917 o171 727 Wiy =%
3. EPTR 29 B0l 1x1=1
T S (TR WA W 2 |
4. g=0 =% 7 A TEA e 1x2=2
- x =
gf CFTTR BTE SR 4 1%F 36x10°19°C 301 B O ST A T '
(ii) 1-5 =T e =5 T wEE @t T
)
5. g TEm e ¢
(i) Igcaﬁfmma?“cmmznunmuomn&mm‘wﬁamwr P
G 3
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(i) CTfEaT FEEG (ATl ISRt =[e331 AfFme 331
T

(i) T weftet RreTa o1 afefe offfs 20w «iiw o forg orite |
T

12

(iv) 0 e (1M @ RRIATS T GIITEY T 10 6N @ :W|mu1fﬂa=n=rwr

&

(v) 220V-60W < 220V-100W 27 4% it stwarcn 220V &
20 TR AT T fizter @ @

T

6. e Taa we ¢ (R e wvsdiy)

(i) oS e et 19y IRw et e AR Ry 7, =xheS
m 3
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(ii) mﬁ‘@m%ﬂﬁmammwl 2
= Zn+ CuSO, -» ZnSO,+ Cu

L

FE, (i) o RreTw 2 wisiew e )« R i i | BT el (1 A T orie @
AR G @14 5=i, +i, - A 3
o

(i) R RACFET 0ot 4103 Grfewtm R fe wb swlene oy 2
o )
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o

(i) AAbbCe (& = 50w 7 ZHe
T
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(iv) = i ge &

(v) FEFEETR 46 Seizad we |
T

f‘;’f I B ZW DNA A0 wafs 3o
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T
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2. Tfafire epsifera werwret Twa wa ¢ 2x7=14
gz fem iem wite ¢ fowfiaizrars wam ol taf e e 141

(i) = g TR GGTeimE ey T8 (e @7 T [ W0 A e
T

(i) G v B e AR e et e
T
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(vi) B amafE far S wa
T

(w;) firemr Bram =t BT S o1 | s fr

1. 3= a7 Boa e 2 m

(i) mmmmmmﬂ@ﬂmwr 1x11=11

Ans.

(ii) J§+ﬁ‘ﬂﬂ m+2-q§qwmw$m'

Ans,

(iii) cos10°: cos20e - €0s30° * cos40° - cosS0° - cos60°

Ans. * €0s70° * cosB0° - ¢os9Q°-a TH T

(iv) @z = wisee T 2 fi
A T | wegfig *ISETT wAfRTE =21 1, aw ofiw I ud e
Ans. I IWGWWWWW?
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(V) 35in8 =13 cosp T sip 20 -7 7= fiefr 32
Ans.

;vi] 1 BITR 1 S0 37 1 #2911 o7 A1 [00R 709 37 T
ns.

(vii) 930 voeen feafb o 4, 5 @ 7 = e Affenrl WWHW P-2, P+ 16 P— 11 5o3foq

A= 1% 5+4 205 Pz ¥W fiefm =11
Ans,

(viii) ABCD 36 5350aa AB I | LACD=50° (e, ZBAD-I3 WH 37
Ans,

(ix) xay,yoz &R zox A, TRCEH Y33 =0T 1001 T57
Ans,

(x) 8,15,10,11,7,9,11,13 @ 16 Feyt|fem s =3 I
Ans.

Ans.

2. 73H v Tan e & 2x7=14

1 1
[I) Wﬂﬁﬁ‘fﬂﬂ |+sm’20°+1+sin"?ﬂ°

Ans.
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Gy 1 k= 228 F1k, =-16aw 31, =207, oW —q  Fef

Ans.

(i) r %= PN BfFER 90 W 38 AR e e FTAce (1 R 36 wwite =i

7@ qoa AR Sl-a3 Ul F T e
Ans.

(iv) ABCD 32 bg5Ts% AB 31503 X 49 onfy afe == TE £LXBC =82°, ZADB =47°

ZBAC =9 ™

Ans,

(v) X =xam l‘;-=| Frern e wfen e 3fy e

Ans.

[’"f'll] 23." =51-3 an Eh! =5b—3, azb¥HA a’ + b9 A TEY
Ans,

"
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